3UDFRZQLN SRINiDG

=LPDB

GU = RIWNRZLDN $QQD 7\J

7\6]

3UDZR JRVSRGDUFJH Z
GU = RINRZIDN $QQD =DI

8 CFLD RQ (LQH .27
<.
2 6Q IXIHJR U
JDICFID IDN Z F]ZDUIHN
=
n
7N 7N 7N 7N
3UDZR JRVSRGDUFTH 3XENF]QH SUDZR
3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH SXEIF]QH L SUDZR NRQNXUHQFILL GZ  GU
SXEILF]QH L SIDZR SXEILF]QH L SIDZR NRQNXUHQFIL ZDU GU - RIINRZIDN $QQD =%
NRQNXUHQFIL ZDU GU NRQNXUHQFIL ZDU GU - RIINRZIDN $QQD =% $"00 &
= RINRZIDN $QQD =% = RINRZIDN $QQD =% 35% " o DICELD GR
3 358 - 358 - -5 =\ IDICRDG
04 -$5 -$5
I 7\
3UDZR JRVSRGDUFTH
SXEILF]QH L SIDZR
NRQNXUHQFIL ZDU GU
= RINRZIDN $QQD =%
35% "
-$5
7N 7N 7N
=z 3UDZR JRVSRGDUFTH
= 3UDZR JRVSRGDUFIH Z 3UDZR JRVSRGDUFTH SXEILF]QH L SIDZR
a GU = RINRZIDN $QQD =DI SXEIF]QH L SUDZR NRQNXIHQFIL Z G
N CFDRQUQH (.27 NRQNXIHQFIL Z G = RIINRZIDN $QQD =DICFL
= -<. = RIINRZIDN $QQD =DICFL DRQUQH 35% ~
DRQUQH  35% * -
7N 7\G] 7\G]
3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH
z 3XENF]QH SUDZR SXEIF]QH L SUDZR SXEIF]QH L SUDZR
= NRQNXUHQFL Z GU NRQUXUHQFL Z GU NRQUXUHQFL Z GU
Q = RINRZIDN $QQD =DICFL = RIINRZIDN $QQD =DICFL = RIINRZIDN $QQD =DICFL
0 DRQUQH $"0O DRQUQH  35% = DRQUQH  35% =
ZNJ  DICFID GR ‘ ‘ ‘
7N 7N 7N 7N 7\G] 7\G] 7\G]
3XENF]QH SUDZR 3XENF]QH SUDZR 3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH
NRQNXUHQFIL GZ  GU NRQNXUHQFIL GZ  GU SXEIF]QH L SUDZR SXEIF]QH L SUIDZR SXEIF]QH L SUDZR SXEIF]QH L SUDZR SXEIF]QH L SUIDZR
- RINRZIDN $QQD =% - RINRZIDN $QQD =% NRQNXIHQFIL Z G NRQNXUHQFIL ZDU  GU NRQNXUHQFIL ZDU GU NRQNXUHQFIL ZDU GU NRQNXUHQFIL ZDU GU
$"06 = $"06 = = RIINRZIDN $QQD =DICFL - RIINRZIDN $QQD =% - RIINRZIDN $QQD =% - RIINRZIDN $QQD =% - RIINRZIDN $QQD =%
D RQ (LQH 35% - 35% - 35% - 35% - 35% -
aQ 7\ 7\G] - -$5 -$5 -$5 -$5
x
3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH
o SXELF]QH L SUDZR SXEIF]QH L SUDZR 7\6] N N 7\6] 7\6]
> NRQNXUHQFIL Z  GU NRQNXUHQFIL Z  GU 3UDZR JRVSRGDUFTH 3XENF]QH SUDZR 3XENF]QH SUDZR 3XENF]QH SUDZR 3XENF]QH SUDZR

= RIINRZIDN $QQD =DICFL
DRQUQH  35% =

= RIINRZIDN $QQD =DICFL
DRQUQH  35% =

SXEILF]QH L SIDZR

NRQNXUHQFIL ZDU GU

= RIINRZIDN $QQD =%
35% -

-$5

NRQNXUHQFIL 4z GU
= RIINRZIDN $QQD =%
$"06 -

NRQNXUHQFIL 4Z GU
= RIINRZIDN $QQD =%
$"06 -
ZN\J  ]DICFD GR
JRG]
\

NRQNXUHQFL Z GU
= RINRZIDN $QQD =DICFL
DRQIQH $"06

- INJ  ]DICFID RG

NRQNXUHQFL Z GU
= RINRZIDN $QQD =DICFL
DRQIQH $"06




=LPDB

3UDFRZQLN 5RINdDG GU = RIWNNRZLDN $QQD 7\J

7N\J

3UDZR JRVSRGDUFIH
SXEIF]QH L SIDZR

7N\J

3UDZR JRVSRGDUF]H
SXEIF]QH L SIDZR

7\6]

3UDZR JRVSRGDUF]H
SXEIF]QH L SUIDZR

7\6]

3UDZR RGZIDIRZH iiZ Gl
= RIINRZIDN $QQD =%

= RIINRZIDN $QQD =%
35% -
-$5

SXEILF]QH L SIDZR

NRQNXUHQFIL ZDU GU

= RIINRZIDN $QQD =%
35% -

-$5

NRQNXUHQFIL ZDU Gl NRQNXUHQFIL Z GU NRQNXUHQFIL Z GU 63 =32
a = RINRZIDN $QQD =% = RINRZIDN $QQD =DICFL = RINRZIDN $QQD  =DICFL
@ 35$ - DRQIQH  35$ = DRQIQH  35$ = 7\6]
n>: =$5 : : 3UDZR RGZIDIRZH iiZ GU
= RINRZIDN $QQD =%
A 63 =32
3UDZR REZIDIRZH GZ Gl
= RINRZIDN $QQD =%
63 =32
7\G] 7\G] 7\G] 7N 7N
3XENF]QH SUDZR 3XENF]QH SUDZR 3UDZR REZIDIRZH Z Gl 3XENF]QH SUDZR 3XENF]QH SUDZR
NRQNXIHQFL Z GU NRQNXIHQFL Z GU = RINRZIDN $QQD =DICFL NRQNXIHQFL Z GU NRQNXIHQFL Z GU
= RUNRZIDN $QQD =DICFL = RUNRZIDN $QQD =DICFL DRQIUQH 63 =32 = RUNRZIDN $QQD =DICFL = RUNRZIDN $QQD =DICFL
DRQIQH $706 DRQIQH $706 DRQIQH $706 DRQIQH $°06
- - 7\G] - -
a 3UDZR REZIDIRZH Z Gl
= ——— = RINRZIDN $QQD =DICFL ———
= 3UDZR REZIDIRZH Z Gl DRQIQH 63 =32 3UDZR REZIDIRZH Z Gl
D) = RINRZIDN $QQD =DICFL = RINRZIDN $QQD =DICFL
I DRQIUQH 63 =32 7\G] DRQUQH 63 =32
© 3UDZR JRVSRGDUF]H —
SXEIF]QH L SIDZR 1
NRQNXUHQFIL ZDU GV 3UDZR JRVSRGDUFTH




